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Statistical Indices

Learning Goals
- understand and use indices

Statistical Index
- a weighted mean used to show changes over time
- used to show trends

- often uses 100 as abase - @o\Sﬂ To use.

os o V.
Consumer Price Index (CPI)
- measures price changes in consumer goods (milk,
phone services...)
- shows inflation
- shows overall increase in price over time
- over 600 items are used
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(4.6) Understanding Indices
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This table gives the bi-monthly gas prices in 1.
cents/Litre 2006-2007.
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Graph the dataon the grid:

Calculate the gas price as a percent of the price

in January 2006, QO -1 y E v R T — e
93.3 : ' : ' H
Ex. March‘ﬁ:g—sxloo%:%.l B R
RO T

Then graph the percents on the grid
in a different colour.

I | | | | | | | i
t t + 1

CDmparethetwugraphs_ j ‘% L\/t \J/ S f\{ J {\/‘ {U}

Is there information that each graph shows that the other does not? If so, what type of information?

—  how price Mi as a7

Create a question about the increase/decrease of gas prices that could be answered using the graph of
gasas a percent.
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Price Indices

Definition: _
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questions below.

a) What is the base year for this CPI?

b) When was the cost of the basket of go

|1994]

| |1998]
- Year |

base cost?

The year 20 Oé

Example: Use the following CPI graph to answer the

The base year is when CPI is /OO .
That occurs in the year 2 o0 L

ods 110% of the
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¢) What was the CPIin 1993? What does this mean?

The CPI was &iﬂ 1993.

This means that the cost of basket goods in 1993 was g 6 7@ ofthe base cost.
d) Describe the change in CPI between 1990-1991. Whyis this change significant?

The CPI changed from ﬁ to 2_3 . This is a change of ﬂo

This is the Wg:gg )E changein any ﬁ'm € period.
e) What is the overall trend in CPIduring this time frame?

TheCPIis |N CA O S/ /’LQ overall.

This means that Canadians ar;pending /Y10 € forthe same basket goods.
f) Calculate the average annualrate of increase for CPI from 1990 to 2006.

(o — 78 32

totalincre ase

annualrate of increase= ——— — -
numberyears 2006 — /990 [©
= 2

%) Use your answer in fto predict the CPIin 2015. - . 2 /. (nCatos

hal
2006 —=2015 => QWW’S

o006 CPL = HO)qu%
=187
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If Kendra brought a pair of shoes for $130.00 in 2002.
How much would the same pair of shoes costin 19977

Loold CFL OO .
1997 CPT %> 07

0[377'(9% ! Qgﬁm\ 2

./50 /0-%) 130 (0.10) =13
= /17 130-13 =7
< wouldl cost 117 m /977
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1. a) What is this price index measuring? C/\ ¢ In Fhe /Df rce Cf]ﬁ
b) What is the base year for the index? (94 1 %’/y v 7L

¢) Estimate the index value for each year.
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5. Use the Consumer Price Index graph in Example 1 to answer
these questions.

a) What was the CPI in January 1996? What does this value mean? g ﬂ

b) What was the CPI in January 2001? What does this value mean? 5

¢) Describe the change in the CPI from January 1996 to January 2001. 6% 7\
d) Calculate the average annual inflation rate from January 1996 to

January 2001. _
totu] 1ncre S _M _ 919

e 199 5 c
wof yors A 187 Jytar
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2. For each price, calculate the percent price increase from a base value of $124.
Round each answer to the nearest percent.
a) $186 b) $155 c) $248 d) $131

1§¢ -2  257- oo/ b/
(24

— 52
(29

= S0/,

Round each answer to the nearest percent.
a) $92 b) $62  $115 d) $25

92-/29 5977 27 8O/
/2.4

=267,

3. For each price, calculate the percent price decrease from a base value of $124.

Use this graph to answer Education Price Index (EPI)
questions 9, 10, and 11. +d0 ]
It shows an index for = 2
440
government spending on i L 11
education in Canada o +ad y
from 1986 to 2003. T 490
0
1 1990 1994 1998 2002
5185 Year

9. a) What is the base year for this index? Explain how you know. 1986

b) Estimate the EPI for each year.
N1992 /30O 1998 SO i2003 (&S Y

o) By what percent did spending on education rise during each time period?
i) Base year to 1992 i) 1992 to 1998 ii) 1998 to 2003

d) Compare your answers to part c. Which period had the greatest increase?
Which period had the least increase? How does this relate to the line
segments on the graph? Explain your thinking.
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Seatwork

pg 237 #1, 2a, 3a, 5,9
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